5.2.4. Suppose a random sample of size 7 is drawn from the probability model
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Find a formula for the maximum likelihood estimator, 4,

5:2.6. Use the method of maximum likelihood to estimate ¢ in the pdf

0 o
r(y;0) = e OV y >0
Zﬁ

Evaluate 6, for the following random sample of size 4:¥; = 02,Y,=170,7; = 2.5, and

Yy =42,
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5.2.9. (a) Based on the random sample ¥; = 6.3, Y, =138,7;3 = 14.2, E}nd Yy =.7.6., use the
method of maximum likelihood to estimate the parameter 6 in the uniform pdf
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(b) Suppose the random sample in Part (a) represents the two-parameter uniform pd
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Jr(y; 61, 6y) = 3 h<y<6

Find the maximum likelihood estimates :for 01 and 6,.
S.2.1L. A'rahdom sariple of §iz& ' is faken from the pdf
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Find an expression for 4, the maximum likelihood estimator for .
5.2.12. If the random variable Y denotes an individual’s Income, Pareto’s law claims that
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PY >y) = ( «) » Where k is the entire population’s minimum mcome. It follows that
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